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ZPE BERRE BR2DR NAFERE 551 J S ) o B BEINAEIS
1 [AN# 35.6 | AR AfET 13.2|@&am 100.0 | fey %5 4% 0.87 [4¢ 33.3|FH™H 100.0
2 |t 32.9|RFET 1151l E4f 100.0| BB R+ 0.84| R &F+ 14.3| KBr/M 100.0
3 [ ATEET 27.8| E&F 11| B 100.0|FEAF 0.52|FIEgHT 133|REHT 100.0
4 |JEEARF 27.6 |8 FRAT 1048+ 100.0| /N KEET 0.50| &+ 12.5| L FHAT 100.0
5 |FBH 23.6[/NBF 9.3|#RP+ 100.0|58 B & 0.42 (1L fz4 1.1 | REp8T 100.0
6 |ERE 18.5|{5=AT 8.8| FEH 100.0| %™ 0.40 |3 3pi T 10.0| FA&# 100.0
7 |[FARF 17.6 |t AFERT 8.0|FEAF 100.0| 2 EFHH 0.32|fRIL T 9.4| LA 100.0
8 |BFRURRH 17484 715|%EHR 100.0| FAF 0.30| &1 5.7 |33 AT 100.0
9 [KREe# 16.6|#AAT 71| EHART 100.0|FEEAEAF 0.26 1L/ ET 5.0 L/ AET 100.0
10 |[BARH 16.5 I FHAT 6.8 KAt 100.0|# A 0.20|Eathst 4.6|R4F 100.0
11 PiEs 16.4|E1B# 6.8| = ARET 95.2| K&FH 0.20| 27} BT 44(8kE™ 66.7
12 [/hNa# 16.3|FIEg AT 6.6| FIRAAET 91.7|#AKTH 0.19|ER™ 42|ER® 66.7
13 |BREHfT 16.2|=+ RHET 6.5|F R RAT 91.7 | EmH 0.17|EKk™ 40| @A™ 60.0
14 |EWH 15.4 | HET 6.5)/MIIA 90.9| EHE™ 0.16 | SR SHT 40(EEK™ 50.0
15 [P RgET 16.1 | #JIl4F 6.4 | HET 90.0|Ba~ 4B 0.16|EEmH 3.9| T 50.0
16 |BatEAR 149|8 R 6.2|/INBHRT 87.5|MA™ 0.15|Fdhm 3.7|H 50.0
17 | R4 14.7| KBHET 6.2 | REFET 83.7|/N\e&™H 0.15[fR3pH 2.8| b EE BT 50.0
18 |/NiElT 14.2|#3)11 BT 6.0|mAR AT 83.3| 0.15| LA™ 26| R 455
19 [FE+ 14.2|BAK 6.0|ZEHH 83.0[8k 1L 0.13|XETM 248k L 333
20 |ARPIF 14.1 | BREERE 6.0| K& 829|RE™ 0.12|=REpHT 23| MK 30.0
21 |2EH 13.6| REFH 5.9| 82.9| & dmAT 0.12[#ATH 2.3|hEHH 0.0
22 |BaB& 13.5|F3m 5.8 |8k ST 80.0|fR ST 0.10|REHH 23|FHH 0.0
23 |EmA 12.7|matat 5.7|& WA 80.0|/INiEHRT 0.09 | & émmT 21tEA™ 0.00
24 |5kt 12.7| E@A™H 5.6| FeAT 79.6|1ER T 0.08[{EA™ 1.8|EAt 0.00
25 [RBFA 12.7| =M 5.6 ]I+ 78.6 |8 FHRET 0.08|¥ % 1.7 | A%EHET 0.00
26 |ERA 12.6| KABrM 5.5|8k L 78.1| Tl 0.07[8kH™ 1.5 EémET 0.00
27 |RFNAET 12.5|/NgEm 5.4 /N BT 77.8|#ehH 0.06 B 1.3|8R SHT 0.00
28 |mAHHE 12.5| R EHmAT B4R 77.3|KETT™H 0.05 [ AFEHET 1.0| REFH 0.00
29 |FIEH 12.3|KEER 54| =2HA 76.9|8kHT™ 0.00(fA&™ 0.0|EA™ nAFREL
30 |A#EH 12.3| BT B 5.2| 8Kk 76.0| B3k ™ 0.00|F#REH ™ 0.0|Feh nAFREL
31 |#IF 12.3| A8+ 5.2 | Bk AMET 75.6|FH™H 0.00[/NeggmH 0.0/Ne&™ nAFREL
32 |fRE™ 121 |¥5HH 5.1 |[#E ATEHT 74.0|F 0.00|Ea~ 4R ™ 00|B/74R™ | PARRBL
33 |#AJIIET 121 | REpHT 5.1|ILRLBT 7391 £# 0.00|/NilT 0.0|/INfBHRT HARRLL
34 |FEARK 12.0| 3R ET 5.0|BEH 73.7 | satkAt 0.00|J1 4+ 0.0) Il E&F nAFEREL
35 |HIIF 11.5|EHH 49|= L RET 73.5|dLHEAK 0.00|mtAAF 0.0|m#MAN | PAfREL
36 | L#ART 11.2| /N fE BT 49|Fapm™ 73.3| 1 AREET 0.00 | #23RET 0.0]|db#AF | pAfREL
37 |HEH 111 FERaHET 4.8|mEmA 72.4 | A EHET 0.00 | 4= EH BT 0.0 |82 F;R AT MAFEREL
38 | KE#H 11| BHRER 4.8| EinET 72.3|3LRIET 0.00|F A+ 0.0|CHET | AARREL
39 |BREERT 10.7|ER T 47| @ 71.6|&RF0ET 0.00&FnAT 0.0|FAF MAFEREL
40 [1l1/RET 10.4 | EémET 46(FhEH 70.5| FIRERET 0.00| FERaRET 0.0| R#0AT nAFEREL
41 |BRAmET 10.4| 5 @A+ 46|ERT 704|E L RHET 0.00|Z+RHAr 0.0| FERaERET nAFREL
42 |REN 10.2|fRaEA™ A5(#BEH 70.0| &4 0.00|/Fm4¢ 00|ELRAT MAFEREL
43 |EEmET 10.1|FEAH 4.5 ET 70.0| REFET 0.00| F & #mHT 0.0|R#t HARREL
44 | REFHET 10[FARK 4.41#)11ET 69.4| )1+t 0.00| =114 00|t | PARREL
45 | REHET 10| BT & A 44|FH™H 68.1| = EA 0.00|=H+ 0.0] I+ HARRLEL
46 [SZFRIET 9.8|8RET™ 43|/NeE™ 68.0|#2)11 BT 0.00|#)11#T 0.0|=m@4 MAFEREL
47 |8RiL 9.7 |8k ST 43|FH™ 66.7 | & 7xET 0.00| = 7M1 0.0|#)11&T nAFEREL
48 |#BH 9.7| XEe#t 4.3 (P Eg AT 66.7 | R =3 AT 0.00|pa &+ 0.0|&#xHET nAFREL
49 | KR 9.6|8R LT 42| EH 66.7| A% 0.00| A+ 0.0 a4+ HaRREL
50 [EERHAT 9.5|REEH 42| Lt 66.7 |[1RF4F 0.00 | #RF+f 0.0| A+ HaRREL
51 |=H+ 9.4| % ERNEAIES) 66.7| T4 0.00|F5A+f 0.0| P+ HaRREL
52 |F#H 9.3| Feh 41|t HE 65.5| X#est 0.00| X#e+t 0.0|FA+ HaRREL
53 |FE#AS 8.6| FIEAT 41| ARFEH 62.5|&EA 0.00|Z&E+ 0.0| X#e#t HaRREL
54 |/ fEET 85| KFEH 40|/ha 4t 62.5|BAK 0.00|BAF 0.0|&EBH HaRREL
55 [Bg4 iR 8.2\ AT 39|E AR 61.2| R4 0.00| 2 F+f 0.0|BAH HaRREL
56 |fE{CHET 8.1/ AET 3.9|8RE™ 60.0| XEeFt 0.00| XKEe#t 00|&RH MAFEREL
57 | KBTI JARNIE=S) 3.8|L/AET 60.0| LHART 0.00| E#ART 0.0| X+t MAFEREL
58 |[{EA™ 7.1 BB+ 3.8|BAK 59.1|FEAREHET 0.00| R & HT 0.0| E#ART nAFEREL
59 |3xImiET AL 38| KEH 57.1| A4 0.00| A#84f 00|mAHE | HARREL
60 |=7xHET 6.8| HALHt 3.8|HALA 55.6| E@Af 0.00| Esw4f 0.0| AR#E+F HaRREL
61 |AR 6.7|B8 B+ 38| FAH 53.8| KEK 0.00| X4 0.0| Esm+t MARREL
62 [#AAT 6.5| Bk 37 |EATH 50.0| R EHHET 0.00| A& BT 0.0| K&+ HaRREL
63 | FaRanfT 6.4|#)1IAF 3.5|FHEAR 50.0 | BRfEF 0.00 | prfER 0.0| <& HT BAFERGL
64 | B4 6.1|& WAt 35| KEF 50.0| &R+ 0.00|zA B4 0.0| FRi&RT nAFEREL
65 | LAt 5.9)/MIIA 35| EEA 50.0| Wi Ht 0.00| b4t 0.0 &E3rAt nAFEREL
66 |FHH 5.7 |msAA+H 34| KEHET 50.0|gudb At 0.00 |}t FH BT 00|\ B+ HaRREL
67 |REFHH 5.7|REHR 34| KRBT+ 50.0|;th EHET 0.00 | #)114f 0.0| AL+t HaRREL
68 |FeAm 5.6| = #RET 3.3| KBTI 46.3|#)11F 0.00(8 &+ 0.0| AT nAFREL
69 |5t FHET 5.4 |4 3.3|FEH 46.2|BBR 0.00|/Na+ 0.0 #)114+ HaRREL
70 | E@T 5.3|FEAREH 3.0| 8 HFRAT 447/ Kt 0.00)/NaKERT 0.0|BEH MAFEREL
JARE BN 5.3|MAH 29| FRiERT 42.9| 3R ET 0.00|E W+ 0.0/ 8%t MAFEREL
72 |BR® 5.3|/NiBHRT 2.9|mgtkAt 409|E W 0.00 B FRURRH 0.0|/NEHERT nAFREL
73 |/NEE™ 51| A+ 2.6| RFNET 36.4| 1L/ ET 0.00|{ER AT 0.0| B WA nAFEREL
74 |8 FFIRET 4.1 ERART 24|80 26.8|f=RHET 0.00[/IN11#¢ 0.0|FRERK| sAfREL
75 | K%M 39| AT 21| REER 0.0)/MIIAE 0.00| g ifET 0.0|f=RHEr MARREL
76 |EEH 3.9[deEARH 0.0[deaARH Bl | SR imET 0.00)JesaA+ ERBaL[/NIA nAFEREL
77 |EAd 37| A 0.0 &£ IRAT L Bl 0.00| 4 At L R HARREL
R¥FE | 72 |EBE 52 |RHE 709 [EHE 0.12|REFIE 22 | RBR 51.9
A 6.2% L [ 448 90%0 k|2 0.16%1 F [s44m 26%
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